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Part A: Grammar and Vocabulary
Directions: Questions 76-78 are incomplete sentences. Beneath each sentence you will see

Jfour words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76- A: Where were you yesterday when I called you?

B: I was away. I went to the market to buy a ----------—-—--- table for the kitchen.
1) nice large wooden 2) wooden large nice
3) large nice wooden 4) nice wooden large

77- Which of the following sentences is grammatically correct?
1) He has not finished typing the report already.
2) He has not finished to type the report yet.
3) He didn’t yet finish typing the report.
4) He has not finished typing the report yet.

78- A: It is a very difficult problem. I don’t know how it ---------—---- . Can you help me to
solve it?
B: yes, of course.
1) solved 2) solves 3) can be solved 4) can solve
79- A: they to speak English well before they left their country?
B: Yes, of course.
1) Had / learned 2) Have / learned 3) Do / learn 4) Had been / learned
80- A: Why don’t you want your brother to -------------- smoking?
B: My father has told him not to smoke cigarette because smoking can cause a lot of
problems for the body.

1) gain 2) quit 3) influence 4) suggest
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81- There are some areas in Iran in which few plants, trees, and animals exist because the
weather is very hot and dry during the day and also there is little food and water there.

They are called -------------- .
1) regions 2) rainforests 3) plains 4) deserts

82- Language is a means of communication that we can use it to ---------—--—--- our knowledge,
thoughts, -----------——-- , and feelings as easily as possible.
1) exchange / beliefs 2) measure / beliefs
3) communicate / pieces 4) influence / relationships

83- A: What do you do on Fridays when you have free time?
B: I often go out and ------—--—--—- with my classmates?
1) pass away 2) figure out 3) keep off 4) hang out

84- When many tourists from different countries visit different historical sites of Iran, they
meet a lot of ----------—-—-- art works or items and like to buy them as --------—------ for their
family and friends.
1) emotional / experiences 2) collective / souvenirs
3) unique / souvenirs 4) moral / skills

85- The math exam that I took yesterday was ------------—-- easy because I didn’t expect it to
be so easy that I could -------------- all the problems well.
1) sadly / solve 2) surprisingly / solve
3) hardly / identify 4) effectively / seek

86- Travelling to other countries is a good way to ----------- your experiences, knowledge of other
cultures, life styles, and ways of thinking.
1) identify 2) forgive 3) compile 4) expand

87- The proverb “------------—-—- ” says that if you continue to do something many times, you

will learn to do it well.

1) Practice makes perfect

2) actions speak louder than words

3) Don’t count your chickens before they hatch
4) The early bird catches the worm

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

An Army is the military force of a country. It is made up of soldiers whose job is to
(88) -—-=====mmmm-- their country against attack from enemies. An Army may sometimes (89)
-------------- air and naval forces, but these are usually separate organizations. In war time,
the army’s main (90) -------------- 1s to fight on land, often working with air and naval
forces. In peace time, the army may be called on to (91) -------------- other jobs; for example,
to help with emergency relief after an earthquake (92) -------------- . In every army the
fighting soldiers are backed up by other men and women in essential support services
(medical, communications, transport, and so on).

88- 1) develop 2) defend 3) prevent 4) suffer
89- 1) provide 2) organize 3) include 4) collect
90- 1) task 2) pattern 3) experience 4) basis
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91- 1) pick up 2) figure out 3) depend on 4) carry out
92- 1) destroys 2) discovers 3) occurs 4) provides

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:
To overlearn is to continue studying or practicing something even after one somehow

has learned something completely so as to strengthen the learned material or skill
according to the American Heritage Dictionary.

For many students, it’s difficult to understand this idea. If Emily has learned a
lesson, she wants to put her pencil down and walk away. If Scott has got a high
mark on a test, he’s ready to throw away his notes from the studying session the
night before.

According to psychological studies, however, overlearning is important to successful
retention of material and performance of tasks. “Don’t just learn — overlearn”, a blog post
by Annie Murphy Paul, explains the empirical evidence behind overlearning.

Murphy Paul mentions a study conducted by assistant professor Alaa Ahmed,
which measured the amount of energy spent on a task that was repeated over and
over. The study published in the Journal of Neuroscience found that as participants
became more skilled at a task, the amount of energy used to perform that task
decreased. “By the end of the learning process, the amount of effort they made to do
the task had decreased about 20 percent from when they started”, Murphy Paul writes.

93- The passage mostly tells us that -------------- .
1) students use a lot of energy to learn something
2) the more one practices something, the more he/she learns it
3) Psychological studies show that overlearning can seldom be helpful for students.
4) the more one practices something, the more he/she uses energy.
94- The writer has provided all of the following in relation to overlearning EXCEPT its

1) functions 2) effects 3) definitions 4) causes
95- According to the study reported in paragraph 3, the amount of energy spent on a task

that is repeated over and over -------------- .

1) reduces in the course of time

2) is the major cause of overlearning

3) needs to be more than normal amount

4) results in more efforts to accomplish tasks
96- Overlearning helps skillful learners use -------------- .

1) a lot of energy to do what they want to

2) less energy and effort to perform a task

3) many learning processes to perform a task

4) much energy and effort to perform a task
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Passage 2:

The population of the world is increasing rapidly. By 2020, there could be 7.5 billion
people on earth. Will there be enough food for all these people, or will we have some
food shortage? Some scientists think that fish farming could solve this problem.
However, other scientists worry that fish farming could cause serious environmental
problems.

Fish farming is not a new thing. There were fish farms in China 3000 years ago.
Today, about one-third of the fish we eat comes from fish farms.

Most fish farms raise plant-eating fish. Popular kinds of plant-eating fish are
carp, tilapia and catfish. Unfortunately, many fish farms are starting to raise meat-
eating fish. A Popular type of meat-eating fish is salmon. These meat-eating fish
live on processed food from wild fish. However, it takes up to 5 tons of wild fish to
produce just 1 ton of farm-raised salmon. The supply of wild fish is already
decreasing. Eventually, many types of wild fish could become extinct. What will we
do then?

Critics of fish farming also say that farm-raised fish is unhealthy for humans.
They say that the fish contains dangerous chemicals. They also criticize fish farming
because it pollutes the water. Another criticism is that farm-raised fish can spread
diseases to wild fish.

Some people say that farming methods being used now won’t produce enough
fish anyway. Instead of putting fish farms in lakes or near the coast, they say that the
fish farms should be moved far out into the ocean. Several countries are already
experimenting with deep-ocean farms. In the future, fish farms might be large cages

that move across the ocean.
97- The increase in the population of the world ------------——-- .
1) can be controlled by producing a lot of fish
2) can hardly cause any environmental problems for people
3) may cause shortage of food and environmental problems for people
4) can make people solve the problem of the shortage of food through many fish farms
98- To produce two tons of salmon, fish farmers need to use about -----------—--- .
1) 10 tons of wild fish 2) 5 tons of wild fish
3) 10 tons of processed fish 4) the same amount of wild fish
99- According to the passage, some people criticize fish farming ------------—--- .
1) because of the supply of wild fish for fish farming
2) because of the polluted water used for raising a lot of fish
3) because of many problems of farm-raised fish in the human body
4) because of the methods being used for producing enough fish
100- According to the passage, which of the following is Not true?
1) Farm-raised fish may spread some diseases to wild fish as well as humans.
2) Critics of fish farming say that the water may be polluted by fish farming.
3) Critics of fish farming worry about some dangerous chemicals in farm-raised fish.
4) The problems of farm-raised fish can be solved by using different methods.
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Part A: Grammar and Vocabulary
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

101- Itis said that from then on he spent his days and nights in caverns and sepulchers, and

that, .......... his intellectual faculties, he blinded himself with burning glass.
1) besides mastering  2) as mastering 3) in order to master  4) being mastered
102- Supporters clashed with police in the city center, .......... damage was caused to a bank,
bus stops and a sports car .......... was bounced across a road.
1) whose / that 2) where / which
3) that / of which 4) at which / for which
103- After .......... my life as an environmentalist, I declared in 2004 that environmentalism
was dead, unable to effectively work at the scale of the problems we .......... .
1) having spent / will face 2) spending / were faced
3) spending / faced 4) being spent / face
104- Chemotherapy given at the same time as radiation therapy can help patients with a
certain type of lung cancer live nearly 50 percent longer than they .......... otherwise if the
same treatment .......... differently.
1) may have / will be given 2) might have / was given
3) could have had / would be given 4) would have had / would have been given
105- Chirac was among the first European leaders .......... Lech, and immediately invited him
to Paris.
1) congratulating 2) to have congratulated
3) congratulate 4) to congratulate
106- He drew a distinction between primary motion and its secondary effects, ......... , impulse
and reaction.
1) that is 2) except that 3) in briefly 4) likewise
107- As a global company, we recognize that people .......... different perspectives or interpret
our ads in a different way than .......... in the market.
1) are lent / is intended 2) had to lend / intends
3) should lend / will intend 4) may lend / was intended
108- .......... now, researchers assumed that deep-diving whales moved relatively slowly,
.......... the need to conserve oxygen whilst holding their breath.
1) Until / due to 2) By / owing to
3) From / despite 4) For / thereby
109- I’ve not ever been in a riot, but it .......... to me as if one .......... about to happen there at
the cinema.
1) had felt / was 2) felt / was 3) felt / had been 4) feels / is
110- The phenomena such as the melting of mountain glaciers .......... major impacts on
societies that .......... on them for drinking water.
1) are likely to have / depend 2) could as well have / depended
3) should have / have depended 4) must be having / depend

Part B: Vocabulary
Directions: Questions 111-125 are incomplete sentences. Beneath each sentence, you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

111- It gives a sub-contractor the opportunity to .......... to a proposed adjudicator on the
grounds of actual or perceived conflict of interest.
1) apologize 2) contribute 3) conform 4) object
112- As regards the proposals for the treaty on economic cooperation, my government has
certain ........... concerning them.
1) complications 2) reservations 3) disturbances 4) controversies
113- The company president has offered a huge bonus to anyone who can provide him with
a/an .......... solution to the firm’s recent marketing problem.

1) versatile 2) mobile 3) absorbent 4) viable
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114- Syndicalism embodies the idea that workers, through direct action, ..........
a general strike, should seize control over the means of production and hence gain power.
1) especially 2) tremendously 3) respectfully 4) consistently
115- I know that you have an appointment in ten minutes, so I shall not .......... you long, the
professor remarked.
1) retard 2) withhold 3) postpone 4) detain
116- During their first teacher-training year, the students often visited local schools for the
.......... of lessons.
1) repetition 2) investigation 3) observation 4) inspection
117- Thereisa.......... meeting that we all must attend as faculty members, so we can have no
excuse for being absent.
1) mandatory 2) proper 3) sound 4) thorough
118- Ethan snorted almost .......... and with his gaze fixed on the golden reflections of the sun
on the river, he replied.
1) productively 2) derisively 3) scarcely 4) scantily
119- The police decided to .... the department store after they had received a bomb warning.
1) abandon 2) evacuate 3) evict 4) expel
120- At the auspicious time, Ranga Reddy was accorded the honor to unveil the name-plate,
symbolizing the .......... of the enterprise.
1) mitigation 2) precipitation 3) imposition 4) inauguration
121- The work was extraordinarily .......... and often dangerous, and shifts went on day and
night, some for eighteen hours.
1) arduous 2) intriguing 3) relentless 4) marauding
122- 1In the remarks, to which this paper is a supplement, blue quartz was .......... put down
among the minerals found in Deerfield.
1) scornfully 2) inadvertently 3) amicably 4) inquisitively
123- Mr. Milton was so excited during the interview; thus the more he tried to relax, the more
sweat .......... down his forehead.
1) streamed 2) dribbled 3) refrained 4) harassed
124- He was lost, astray in a strange house where nothing and no one now stirred in him the
slightest .......... of affection.
1) condition 2) equipment 3) vestige 4) issue
125- What happened to the whales during this period? No doubt they went beneath the Ice
Bank to find more .......... seas.
1) feasible 2) relevant 3) delighted 4) naive

Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series.
Then mark the correct choice on your answer sheet.

126-

1) To watch my favorite football sport is in the fall, every Sunday so I clear my
schedule for watching the Browns.

2) My favorite sport in the fall is football to watch, so every Sunday clearing my
schedule is to watch the Browns.

3) My favorite sport to watch in the fall is football, so I clear my schedule every
Sunday to watch the Browns.

4) Watching my favorite football sport is in the fall, I clear my schedule every Sunday
so watching the Browns.

127-

1) Joan said she loved shopping, but much the time as she would like she didn’t have
enough money doing it!

2) She loves to shop, Joan said, but as she would like much the time she didn’t have
enough money to do it!

3) Joan said she loves shopping, but she doesn’t have enough money to do it as often as
she would like!

4) She loves to shop, Joan said, but as often as she likes she doesn’t have enough
money doing it!
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128-
1) Violence on television has been debated by politicians for years, yet they still don’t
have a good plan about how to deal with it.
2) Violence has been debated by politicians on television for years, yet they don’t still
have how a good plan dealing to it.
3) Violence has been debated by politicians for years on television, still they don’t have
a good plan about how dealing to it yet.
4) Violence on television has been debated for years by politicians, still they don’t have
how a good plan to deal with it yet.
129-
1) Because Nancy supposed turning in her book report on Thursday, she did not take
the book out the library until Tuesday.
2) Although Nancy was supposed turning in her book report on Thursday, but until
Tuesday she did not take the book out of the library.
3) Because Nancy supposed to turn in her book report on Thursday, she did not take the
book until Tuesday out the library.
4) Although Nancy was supposed to turn in her book report on Thursday, she did not
take the book out of the library until Tuesday.
130-

1) A few of people strolled to them when they stood on the sidewalk glanced around.
2) A few people strolled by them while they stood on the sidewalk glancing around.

3) A few people were strolled by them when they stood and glanced around on the sidewalk.
4) A few of people were strolled to them while they stood glancing aroundon the sidewalk.

Part D: Language functions
Directions: Read the following conversations between two people and choose the answer

choice (1), (2), (3), or (4) that best completes the blank in the conversation. Then mark the
correct choice on your answer sheet.

131- A: What does it mean to .......... a rule or a set of rules?

B: It means that you stay within the bounds of the rules.

1) come across 2) catch up 3) abide by 4) turn in
132- A: Have you heard anything about the meeting?

B: The meeting has been .......... to Monday because of the seriousness of the situation.

1) dropped off 2) picked up 3) brought forward 4) stuck in
133- A:1don’t know what this word means.

B: You'll have to .......... in the dictionary.

1) bring it out 2) call it off 3) come it down 4) look it up
134- A: The Company is .......... new workers to meet this projected demand.

B: Good, It is a need.

1) running into 2) getting to 3) standing for 4) taking on
135- A:.......... , I think I'll go after all.

B: Are you sure about that?

1) At random 2) On the second thought

3) At issue 4) On the spot
136- A: I think it was a good movie.

| O , I didn’t like the movie.

1) No sense 2) By the way

3)  mean it 4) To be quite frank
137- A:1didn’t even eat lunch today.

B: Really .......... ?

1) How come 2) To what 3) So 4) In what way
138- A: Will Beth be there?

B:.......... ! She was so horrible to you.

1) That’s all 2) Kidding me

3) I should hope not 4) What a pity
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139- A: John does a lot of work .......... .
B: Yeah, people don’t realize how much of the club's success is due to him.

1) from pillar to post 2) behind the scenes
3) for good 4) as a last resort
140- A: The teachers didn’t have time to play their courses for the new examination.
B: So their teaching was a/an .......... affair.
1) on the ball 2) hit-or-miss 3) on the cards 4) 1ll at ease

Part E: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Ambition is a vital ingredient for success. Without ambition to push us, we will not
be capable of great 141) .......... We all need that special something 142) .......... ourselves
to give us the willpower to reach a higher goal than we 143) .......... ourselves capable of.

Yet, ambition, like money and fire, is a good 144) .......... , but a bad master. Einstein,
Louis Braille and countless 145) .......... renowned persons succeeded because they had the
ambition and determination to 146) .......... for what they wanted. 147) .......... , there were
also people like Adolf Hitler and Nero, 148) .......... , because of over-ambitious, failed
to become successful people. Instead, by being slaves to their ambition, they 149) .......... to
reality and humanity. They lost the people’s respect and were soon 150) ........... Needless
to say, they failed in their 151) .......... and caused much suffering to the people they had
been put in charge of.

Perhaps you may think that people like Hitler and FEinstein are far removed
from our ordinary lives. Nevertheless, ambition and over - ambition are 152) ..........
emotions. Since the 153) .......... of the cave man, ambition has led to the success and
downfall of many individuals. We have achieved much today, 154) .......... our forefathers’
ambitions and dreams. If we are to progress, we will have to learn to control our ambition to
helpus 155) .......... our targets.

141- 1) predictions 2) estimations 3) achievements 4) advocacies
142- 1) over 2) within 3) above 4) beyond
143- 1) advise 2) imagine 3) restrict 4) amplify
144- 1) servant 2) affluence 3) inspiration 4) commodity
145- 1) the others 2) one other 3) other 4) others
146- 1) strive 2) assess 3) record 4) prove
147- 1) Therefore 2) In spite of

3) Additionally 4) On the other hand
148- 1) whom 2) who 3) they 4) that they
149- 1) were blinded 2) blind 3) are blinding 4) have to blind
150- 1) regretted 2) fluttered 3) despised 4) evaluated
151- 1) dilemmas 2) prejudices 3) appointments 4) endeavors
152- 1) reluctant 2) timeless 3) logical 4) rough
153- 1) choice 2) transfer 3) era 4) role
154- 1) dueto 2) so that 3) for 4) whether
155- 1) reaching 2) reach to 3) be reached 4) reach

Part F: Reading Comprehension
Directions: In this part of the test, you will read Three passages. Each passage is followed by

five questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark

Passage 1:

No very satisfactory account of the mechanism that caused the formation of the ocean basins
has yet been given. The traditional view supposes that the upper mantle of the earth behaves
as a liquid when it is subjected to small forces for long periods and that differences in
temperature under oceans and continents are sufficient to produce convection in the mantle of
the earth with rising convection currents under the mid-ocean ridges and sinking currents
under the continents. Theoretically, this convection would carry the continental plates along
as though they were on a conveyor belt and would provide the forces needed to produce the
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split that occurs along the ridge. This view may be correct: it has the advantage that the
currents are driven by temperature differences that themselves depend on the position of the
continents. Such a back-coupling, in which the position of the moving plate has an impact on
the forces that move it, could produce complicated and varying motions.

On the other hand, the theory is implausible because convection does not normally occur
along lines, and it certainly does not occur along lines broken by frequent offsets or changes
in direction, as the ridge is. Also it is difficult to see how the theory applies to the plate
between the Mid-Atlantic Ridge and the ridge in the Indian Ocean. This plate is growing on
both sides, and since there is no intermediate trench, the two ridges must be moving apart. It
would be odd if the rising convection currents kept exact pace with them. An alternative
theory is that the sinking part of the plate, which is denser than the hotter surrounding mantle,
pulls the rest of the plate after it. Again it is difficult to see how this applies to the ridge in the
South Atlantic, where neither the African nor the American plate has a sinking part.

Another possibility is that the sinking plate cools the neighboring mantle and produces
convection currents that move the plates. This last theory is attractive because it gives some
hope of explaining the enclosed seas, such as the Sea of Japan. These seas have a typical
oceanic floor, except that the floor is overlaid by several kilometers of sediment. Their floors
have probably been sinking for long periods. It seems possible that a sinking current of
cooled mantle material on the upper side of the plate might be the cause of such deep basins.
The enclosed seas are an important feature of the earth’s surface, and seriously require
explanation because, in addition to the enclosed seas that are developing at present behind
island arcs, there are a number of older ones of possibly similar origin, such as the Gulf of
Mexico, the Black Sea, and perhaps the North Sea.

156- According to the traditional view of the origin of the ocean basins, which of the following
is sufficient to move the continental plates?
1) Spreading of ocean trenches
2) Movement of mid-ocean ridges
3) Increases in sedimentation on ocean floors
4) Differences in temperature under oceans and continents
157- The author refers to a “conveyor belt” in paragraph 1 in order to ............ .
1) illustrate the effects of convection in the mantle
2) demonstrate the linear nature of the Mid-Atlantic Ridge
3) account for the rising currents under certain mid-ocean ridges
4) describe the complicated motions made possible by back-coupling
158- The traditional view of the origin of the oceans is regarded with .......... .
1) slight apprehension 2) absolute indifference
3) complete disbelief 4) guarded skepticism
159- Which of the following, if it could be demonstrated, would most support the traditional
view of ocean formation?
1) Convection usually occurs along lines. 2) Sedimentation occurs at a constant rate.
3) Sinking plates cool the mantle. 4) Slowly eroding mountain
160- The best title for this passage is ..............
1) A Description of the Oceans of the World
2) Several Theories of Ocean Basin Formation
3) The Traditional View of the Oceans
4) Convection and Ocean Currents

Passage 2:
It can be argued that much consumer dissatisfaction with marketing strategies arises from an
inability to aim advertising at only the likely buyers of a given product.

There are three groups of consumers who are affected by the marketing process. First,
there is the market segment-people who need the commodity in question. Second, there is the
program target-people in the market segment with the best fit characteristics for a specific
product. Lots of people may need trousers, but only a few qualify as likely buyers of very
expensive designer trousers. Finally, there is the program audience-all people who are
actually exposed to the marketing program without regard to whether they need or want the
product.
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These three groups are rarely identical. An exception occurs occasionally in cases where
customers for a particular industrial product may be few and easily identifiable. Such
customers, all sharing a particular need, are likely to form a meaningful target, for example,
all companies with a particular application of the product in question, such as high-speed
fillers of bottles at breweries. In such circumstances, direct selling (marketing that reaches
only the program target) is likely to be economically justified, and highly specialized trade
media exist to expose members of the program target - and only members of the program
target-to the marketing program.

Most consumer-goods markets are significantly different. Typically, there are many rather
than few potential customers. Each represents a relatively small percentage of potential sales.
Rarely do members of a particular market segment group themselves neatly into a meaningful
program target. There are substantial differences among consumers with similar demographic
characteristics. Even with all the past decade‘s advances in information technology, direct
selling of consumer goods is rare, and mass marketing - a marketing approach that aims at a
wide audience - remains the only economically feasible mod. Unfortunately, there are few
media that allow the marketer to direct a marketing program exclusively to the program
target. Inevitably, people get exposed to a great deal of marketing for products in which they
have no interest and so they become annoyed.

161- Which of the following, according to the passage, about highly specialized trade media
can be suggested?
1) They can be used to exclude from the program audience people who are not part of
the program target.
2) They are rarely used in the implementation of marketing programs for industrial
products.
3) They are used only when direct selling has not reached the appropriate market
segment.
4) They should be used only when direct selling is not economically feasible.
162- Direct selling, based on information given in the passage, is .......... .
1) used in the marketing of most industrial products
2) often used in cases where there is a large program target
3) not economically feasible for most marketing programs
4) used only for products for which there are many potential customers
163- The word “trousers” in paragraph 2 is mentioned in order to ..........
1) make a comparison between the program target and the program audlence
2) emphasize the similarities between the market segment and the program target
3) provide an example of the way three groups of consumers are affected by a
marketing program
4) clarify the distinction between the market segment and the program target
164- Which of the following is True about the marketing of industrial products like those
discussed in the third paragraph?
1) The market segment and program target are identical.
2) Mass marketing is the only feasible way of advertising such products.
3) The marketing program cannot be directed specifically to the program target.
4) More customers would be needed to justify the expense of direct selling.
165- Which statement about demographic characteristics and marketing is supported by the
author?
1) Demographic research is of no use in determining how successful a product will be
with a particular group of consumers.
2) A program audience is usually composed of people with similar demographic
characteristics.
3) Psychological factors are more important than demographic factors in defining a
market segments.
4) Consumers with similar demographic characteristics do not necessarily form a
meaningful program target.

Passage 3:
Traditionally, the first firm to commercialize a new technology has benefited from the unique
opportunity to shape product definitions, forcing followers to adapt to a standard or invest in



an unproven alternative. Today, however, the largest payoffs may go to companies that lead
in developing integrated approaches for successful mass production and distribution.

Producers of the Beta format for videocassette recorders (VCRs), for example, were first
to develop the VCR commercially in 1975, but producers of the rival VHS (Video Home
System) format proved to be more successful at forming strategic alliances with other
producers and distributors to manufacture and market their VCR format. Seeking to maintain
exclusive control over VCR distribution, Beta producers were reluctant to form such alliances
and eventually lost ground to VHS in the competition for the global VCR market.

Despite Beta's substantial technological head start and the fact that VHS was neither
technically better nor cheaper than Beta, developers of VHS quickly turned a slight early lead
in sales into a dominant position. Strategic alignments with producers of prerecorded tapes
reinforced the VHS advantage. The perception among consumers that prerecorded tapes were
more available in VHS format further expanded VHSs share of the market. By the end of the
1980s, Beta was no longer in production.

166- The passage is primarily concerned with .......... .
1) evaluating two competing technologies
2) reinterpreting an event from contemporary business history
3) illustrating a business strategy by means of a case history
4) proposing an innovative approach to business planning
167- According to the passage, today’s successful firms, unlike successful firms in the past, may
earn the greatest profits by ..........
1) investing in research to produce cheaper versions of existing technology
2) adapting rapidly to a technological standard previously set by a competing firm
3) establishing technological leadership in order to shape product definitions in advance
of competing firms
4) emphasizing the development of methods for the mass production and distribution of
a new technology
168- According to the passage, consumers began to develop a preference for VCRs in the VHS
format because they believed ..........
1) VCRs in the VHS format were techmcally better than competing-format VCRs
2) VHS prerecorded videotapes were more available than Beta-format tapes
3) VCRs in the Beta format would soon cease to be produced
4) VHS was the first standard format for VCRs
169- The author implies that one way that VHS producers won control over the VCR market
was by ..........
1) carefully restrlctlng access to VCR technology
2) sharing control of the marketing of VHS-format VCRs
3) retaining a strict monopoly on the production of prerecorded videotapes
4) sacrificing technological superiority over Beta-format VCRs in order to remain
competitive in price
170- Which of the following best describes the relation of the first paragraph to the passage as
a whole?
1) It makes a general observation to be exemplified.
2) It outlines a process to be analyzed.
3) It poses a question to be answered.
4) It advances an argument to be disputed.
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